LIVING CULTURE

MANUAL PERGOLA WALL MOUNTED 2 POSTS

4x3m

S







ltem | Qty ltem | Qty ltem = Qty ltem | Qty
3B-01 2 3B-11 2 3B-12 2 3B-13 2
3B-14 1 3B-15 1 3B-16 1 3B-18 1
3B-19 16 3B-20 54 || 3B-21 38 3B-23 | 19
Carton
g 9B24 1 1 8B35 2 3839 10 | 3B40 | 2
3B-41 2 ||3B-42a | 10 3B-42b 8 3B-45 8
3B-46 2 3B-48 @ 27 3B-49 | 26 | 3B-50 1
3B-51 | 216 3B-53 5 3B-54 5 3B-55 2
3B-62 10
3B-02 1 3B-03 1 3B-04 2 3B-56 1
Carton
214
3B-08 2 3B-09 2
Carton
3B-0 1
3/4 0 :
Carton
4/4 3B-06 9

3x4-1




ltem Drawings Qty
3B-01 \ 2
7
3B-02 1
3B-03 1
3B-04 2
3B-06 27
3B-08 2
3B-09 2
1
3B-56

3*4-2




ltem Drawings Qty ltem Drawings Qty
3B-11 3B-40 ’/E‘ 2
3B-12 3B-41 ’/m 2
3B-13 3B-42a | 10
M6*16
T P
3B-14 [T 3B-42b | 8
M6*16
3B-15 ] @
3B-45 M8*10 3
3B-16 3B-46 2
3B-19 % 16+2 3B-49 26
M8*20
3B-20 54+2 3B-50 =~ 1
~ //g A\
e
=)
3B21 | 3B-51 216+4
U M10%80 M4 .2725
w&&&&&@
3B-23 1) oegg | 15+2 3B-53 § 5
W&&&&@
i i 5
3824 N\ 3B-54 | M4.2+25
3B-35 | s 2 3B-55 I °
3B-39 ] 10 3B-62 = M4T5 10
M8*100 Mo 100
Isk4—3 | A—




1! 7
P
0 0 0 0
g

2894

= 3944

2894

e bottom

please be
frame size




»

During the installation process, if you encounter any
uncertainties, please refer to the installation instructions on

the product page of the website.

AN

3B-46 @ 2
3B-01| - [ 2
3B-13 2
3B-19 % 4




»”

3B-04

38-18




d

3B-53 \\

%’
AN

A

3B-62/39

— —
———— B —
— ———— —— — —— ——
%% \5\%\\@\
— —

Attention:
1.Before installing here,
please ensure that the
wall is flat

2.1f it iIs a wooden wall,
please use 3B-62, and if it
Is the Cement wall, please
use 3B-39

3. When installingor
wooden walls, cap fc
expansion bolt dg
need to be used.

SN

»”

:2848. 4MM

3B-39 ] 10
M8*100
3B-62) ~ MeTS 10
M10*100
3B-53 § O




N Q
N Y
N
N
N
\\
N
N
N
N
N
— \
|
|
|
|
|

ce

3B-54

e




ANV

10
8

M 6* 1 6
M 6 * 1 6

3B-423
3B-42b

3B-04

NTAAVA 1
0 oo o — 4
\\ ;

/ 2

Voly.

&




3B-03

3B-18

3B-

2

M8*10

3B-45

//>

A%




»”




»”

3B-19

“\

Q /

12

=

3B-35

3B-11

3B-19

e




3B-24

&

& 3B-55

3B-2
3B-55 < Q>
3B-56 -
B-2
| 3B-23 gy




»”

3B-24
3B-12

-
—

A\

N




»”

11

3B-51

e

108

3B-06

27

3B-48

27




3B-51

3B-51

26




warning:

Bolts must be tightened,
but not overtight as
louvres have to move.

»”

3B-20

13

3B-09

3B-20

/50




»”

52

3B-06




»”

Attention: Please pay attention to
differentiation during installation, as the hole
positions on both sides are different

C




L\

-
1+

3B:16

3B-14

3B-16







Warning
In Snow / Wind season or in case of

»”

snow / wind forecast open up your shutters

In vertical position to avoid any damagi
on your pergola.

ng

3B-15




	U-2894X3944X2842手动靠墙01
	U-2894X3944X2842手动靠墙02
	U-2894X3944X2842手动靠墙03
	U-2894X3944X2842手动靠墙04
	U-2894X3944X2842手动靠墙05
	U-2894X3944X2842手动靠墙06
	U-2894X3944X2842手动靠墙07
	U-2894X3944X2842手动靠墙08
	U-2894X3944X2842手动靠墙09
	U-2894X3944X2842手动靠墙10
	U-2894X3944X2842手动靠墙11
	U-2894X3944X2842手动靠墙12
	U-2894X3944X2842手动靠墙13
	U-2894X3944X2842手动靠墙14
	U-2894X3944X2842手动靠墙15
	U-2894X3944X2842手动靠墙16
	U-2894X3944X2842手动靠墙17
	U-2894X3944X2842手动靠墙18
	U-2894X3944X2842手动靠墙19
	U-2894X3944X2842手动靠墙20
	U-2894X3944X2842手动靠墙21
	U-2894X3944X2842手动靠墙22
	U-2894X3944X2842手动靠墙23
	U-2894X3944X2842手动靠墙24

